[ Soltor /@

BC Chapter 8 Review WS #2 é #q )P
. MR TNYe =
¥u-sub % T4 ws(zy)i)x _ »sm(b()
1. Find Ix(lnx) 2. Find J.x3 cos(2x)dx a 2%
7 2 Jy
Wt |0 = [ - dv - \
73 RGN T % | cos(2x (.3
& _ X'/M - )x%\\.i . ‘\ X sradX + 1{_)( @S[Q/X)
I~ x TNeIlz) a2
- | (2) | = 2xsfay -2
//{ 505(2)<> e '

Sia (2x)
i’ JI'“J[ZX)J

Q S&fl’étj &

f

[ : s(Zx)fx ‘ |
j Sn /7%) ,ﬂ‘ﬁ ;’%Jy&%é
. Io|
J[S/A(QX)] ﬁ”m{zx!)] @S{ﬂx) ¥ L@X*QS&@
U=sin(x)  jdy= 44 gﬁ,cg:,}%fﬁu. |
ﬂ_(_‘.‘_- (% Zbos'() o8
Ix )-2 ‘ 45&@:@
X(”') x—1 A B ¢ 1 6. Find lint s, XeEGERE (1)
3. Fin Tt x
Xt aD) X T G 4. 74/,,\(32) .
X=| = Ax(x+) + Blet))+ Cx> o .' ,;
ko| -(=0+B+0 [B=-1] . 5)
1 A =t . S
D] i< AL)AR() + Claf [e==a] | om ><->‘< i ){é& ec’(x
-
(o=t = AGYIR) + () AL L
T = — -— A §€c (—) &
0'2'4 2 2, 2 -./ + /ﬂ X 00 x
4 =24 jx"* 32t o 7oA
A=2




2
7. Find lim,_,+(e* + x)%/* j j’g‘ ( X+>€) /j xm\ /"?x )f) 6 'H()
jm 5{,/2«{6 +)(> o /n N

NCT

X ‘O
Sy =P 2 (22 )
X3p* x )

2 . 3 -3
J“Q(Xﬂ‘l) 300X+L2(x-‘lj ﬂx
( 7z

u= x4 j*—zr‘/g_~ N 4

10.

3x
Which of the following gives the value of lim (i + -.} 2
e

X (A0 B (e (r_)) .

j xaoo( ) / ;{2) 3ﬂ-[/4
ot |77

f”y baonfi] fin. 3 ,’2J




: { @ : : v
m '_.ﬁJ . - / T
hrc0  I* ST S | = =
) 3’@1’ [?@ Ot Z/.__

-

2
X L w? f I PR
7, /,’ - 5 - > 5" = P -
12 U=x-d '™ 2| ° % 20 +(X ;2)
du -4

. ——<= I =, 3
f dy = A A |« Op“
! dp= —

773 R

4213 > 3.2

(A) (B) 2*3 (€) -

SEIRCEE
Ak

)@187"//75 meth oA

13. j x% sin 2x dx LIPET , 2%
| Jm 2k 5 aslx)




d"hd’ F"A 124

T8F

. [ D‘\,m' o Decompos ion ol o
15 ¥ 6Ly * HLIET) || - acctin(3e) Ny
B . 7, 16. | arctan 2x dx - ‘ ‘
flnr\/x"“ — 4 dx M'x -’“f) OQX | ‘
g = arcTan(2x AV: ‘l X
L Bpenyhe wHD sk e "
P A = , -
o /u\ by ix gt V=
YuUV- |vdue xt g %uv-nfw?u& /J J x
; - 3_’_ At /'J”X)"‘ 4 « [ +4x
e
= 3xhb-fie o TR
= skl 4)~ f( + i I+gd bl ehfxsa “"“ﬁ"’(%{)”ﬂ (HL*X’ +C | JX:%
Rl P A n -
¥42 ¥x~2 -l&,p&{‘fﬁ —
Y=z x= — T
17. f cos¥(mx — 1) dx * 7;(] jﬂ%?m > 18 qmzw dx J\[SM Mj
Cos(Tu-1}+ Cos(m-1) % :;[/“5""2»/”"“’);;“"““ W WS’”"‘"[”“’“’(Q"‘J
M:sin(ﬁX") . i / M _ &(/? (/') [77)() p ./05 )JQ '—[I 6475(.7)()1]
P < cos(mx-)-m T FTC g ol JJ i fmm
-Los{ TX X = !
Jx:_ﬁlLe P \ I W = sinu + ¢
mlos(m~1) 'j "l‘.‘)m(wr9~ W=TL ‘
L3 o] A SJ‘[LWJZ@' L)
L._u éo/éﬂ/> ﬁMn) | sl ) 4| & - _ﬁ()" ':5”"(""‘7‘) 1C
R I VR R ( —osu J)uﬁ X
f/_u N | Tol2% j [.:: n(m)*l—cj
20. L—

19, f sec“%dr

ettt [

¥ 7‘/ w(;fﬁ(hh

e - '“"‘"f - gdx x>3
X("f’f/no(;s”@col— X " ) z ymj Sn@:z
T j sec@= =
S‘[H’ fﬂnl(g ) . SC’CZ(Z)jx ;/‘ =32 3
) » 1 3f'dn & y
~ . ) 3 -
j‘:ﬁ”‘(é) I+(.4.2 Sec A 52,2,,‘}/2275 Y =3sec@ J 5/&(9 //"97@"6"47&
(7 Xy ! J L /] J’x
Tl ? ~ Y, " - :
K J i JJH(&M :(Q[ufﬂ_j]-fc Jp= JsecO%n0 JJC%“" o) “i[y‘g"]J}(}
3‘ } /

Lfan(%)+ S]] 4c

‘ﬁm 0= JE
3

3| #a0 - 6 -fCL
T = 3ha O i i




S AT NS S
o, R meid me o
21.
) . 3
X = ‘2'/7'19 JXL.,,/_"_ :(Qgece ?ﬂ;{”" 8] See O 009

":0256429 ' 3 | . | |
;;(? 2o BAO JO(Z‘Q*M 9) . Qsecz@aeﬁ ?J[ fng] + gecO@tan Q!E& d

Sese sec @ ; \
Séc 0 - f:} <e<9-h«q9,;99

sec :)——z‘_"—;— g
ec© XZ ZJ‘Y“Q‘AQ‘Q%‘?@J,Q J

"R sec® u=se & /fﬂu ]geco n . J‘« ’

@

* & . eOhmb A
x = 39 ™ = g ’3—"‘*] T C |
[#5525e \ _ .
A=-s B
("x-31 A B
- ‘f)(xB) X~4  x+3

— x4 Re#3

23, »Mx 1S3 /x+/[jﬂ(x)+ C
¢ Ptw A BXs CJ (x-Dx+) |
L B-x2+x-1 VR o 2+ |
X(x=1)#1(x~1)
(sz’fr)(x-—e) 0 #a(o) = (dﬂ@(a) fC}()
3 | | O=3 4
X +2x = AGC+0) + (B¢ (x- ;) | 2 C

= P+ 20) = 14/‘93.,.(/(%,(/)

3z 24

7-—* 3128 |5 /5/

'\”L«)

e m\

qjirm ) B
3x— 1 e —| 'r(x—n):"
-0 = “\+ 38
4y-5 = 3A(X I> 3 —
@ Y- = 3A(0) t3R L&f

X:o‘ -2 :3[1('0 t 3(2/ [ ,
C —2=-34+2 1‘32:’3)4 At%




|
ol -
25. /Z;/’le,ﬂ”l“‘h 26. (m)o ﬂ\j: ﬂmﬂq[nx]
Eﬂl} %nt}f); N % lim (In x)2/= i : ‘1772
eaab "‘X
f(m Q(jv)(xj /m °M‘>¢ Q(O) lz’ ﬁ (m 2" /[Ad /];
X3 | ,’ Y-‘al x‘ , ~@ / /,m Jf (ﬂ‘Y) j x-»’ga;ﬁ‘" (&)
‘ _ T %306 )( “oe ﬁ
27. i (- lix 28. * A : .
% Iim (1' — 1))nx j *3(r i) i]m (—«-an... - __,:z_“_) € :% J
e ﬁ(,( ) =it \lnx x - v
‘, Y _lm I ix- ,
,@:%&&0 yyw@Tr ,jﬁ%ﬂszf?ﬁiz%
L AT = i M )
A (} "i(in')'[)\ ,t—! ﬂ/ﬁh 0.2 O'“ X ﬁ (QY -2 O
A : art 0 (_ X. " —
xﬂ\+ h i et ,[, "Zﬂ\){ ol ) 6()({(”') {*K/Y) Ty (_X*i) tx ,ﬁqx O
QZ PO T e b — = &v=0 Jin 2 = 2
;2' ﬂ“]:o@ b CTh i"(’)"‘lﬁxx *X&’ (41 :@

Determine whether the improper integral dlverges or converges. Evaluate the mtegral if it converges.

29. e % |30 / \’3
16 r ?5”*[ x < ‘-&" [ 7 5*3°J X
| i
6«30 9 £V i\/(% o
. Dim /ﬂ . ; xL 810; b -
f lemxd.x‘m ’x Xa@%? ,;E i l(/gﬂ()x =
IR _X | ‘ -)
= ﬂ\x =2 e A% - n X i A X
du=f e ' e X
bin ~bhy |
6ﬂxXkJTSLX J bre T
{
j\XQ./ﬂD( ‘ ‘ —_@-‘ - / N ﬁih/ [
] .
33. . 3 6 b LT e
gx;:zmd' ZXK“+ ) . T t@
‘2'”‘ ia/(s‘ec [_{/ /g'm LW(SQ-. b(/ ¢ ‘ \\_,,/
bag? 2 2 ¢-300 2 : 2 ‘ i
/m !l |

S4avsec -{—- A!(S((,[L
A%ﬂ"' 2 > 2 2

'_C',fm -—a“sec /) 24«5{’((/) 'I "/r;’/-/-q
2araec/ ’E(OJ i :;L/T/J "54[{&-&(4) / ) f



